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1.
Introduction

In 25.101 v5.10.0 there is 3 minimum requirements specified in chapter 9.2 Demodulation of HS-DSCH (Fixed Reference Channel). These include 9.2.1 Single link performance, 9.2.2 Open Loop Diversity performance and 9.2.3 Closed loop diversity performance. Currently none of these minimum requirements has a corresponding test specified in 34.121. 

In the latest T1 meeting (T1#22, Feb-2004, India) R&S presented a CR to introduce test case 9.2.1 to 34.121.

The main issue of debate in this CR was that it omitted all minimum requirements specified by RAN4 that had:


Test requirement < ½ ideal throughput

In practice this means that almost half of the test requirements would be omitted.

The reason for omitting the test cases was that when operating in bad radio conditions measurement uncertainty would exceed any statistical throughput uncertainty. Therefore measurement results would be highly unreliable throughput changing from 0% to 100% within test system uncertainty. This would make the test meaningless. 

This observation was based on simulations made by Siemens. The illustrated throughput curve from these simulations is presented in Figure 1 (T1-040141).

Picture 1 Illustrated Throughput curve

On the other hand when RAN4 was specifying these minimum requirements several companies made simulations on the behaviour of the throughput curve. In these simulations made by (at least) Motorola, NTT Docomo, Nokia and Panasonic the shape of T-put curve was found to be much more flat than presented by Siemens. An example of these simulations is presented in Figure 2 (Motorola, R4-020916). 
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Figure 2: Vehicular A

Shape of the curve is essentially different in figure 1 and figure 2. In figure 1 angle of the T-put curve changes significantly when radio conditions change. In figure 2 the angle of the curve is almost same regardless the radio conditions.

Now the biggest challenge is to identify why these simulation results are so different and then agree on the shape of the throughput curve. 

2. Conclusion

Before specification of test cases 9.2.X can continue further in TS34.121 RAN4 and T1 have to agree on shape of the throughput curve. Only after that T1 can decide which of the minimum requirements are to be omitted (if any).
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